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1. Fill in the blanks.

CLASS -li

SUBJECT:MATHEMATICS

(@4-0=___ (g)52-1=___
(b)20-__ =18 (hy___ -1=25
(c)88-___ =88 (24-24=___
(d___ -1=35 (i)6-2=___
()5-0=___ (k)y14-__ =12
(f) 68-__ =68 ()25-25=__
2. Subtract the following sums.
(@ TO (b) TO
00 00
72 8 6
-12 -3 5
(c)TO (d) TO
00 09
-23 -18
3. Fill ups:
(@)26x10=__ (b)42x10=__
(d)24x10=__ ()35x10=___
4. Choose the correct answer.
(@) 2x4-=
16 8 24
(b) 5x5 =
25 13 36
() 3x6 =
29 18 50
(d) 4x4-=
11 30 16

(c)81x10=_
fH15x10=_



5. Add the following:

(@ HTO

(e)HTO

626
+289

6. Observe the pictures and fill in the blanks:

(b)HTO

000

HHTO

625
+175

How many petals in all ?

O+0+0=0

*eQ

O groups of O petals= [_] petals

(1 x [ = [ petals

7.Fill in the boxes:

@3x 1 =3
(b)ox1=[]
(¢)5x =5

(d)13x 1=

M ox2= ]

(g)11x 8=8x[1

(h) 9x

(i) 11 x= 11

= 3x9

]



() 5x2= []

() 1x8=

8. Multiply on the number line.

(@)2x7= [

9. Multiply the sums:

(@ TO
12
X 4

() TO

44
X 2

10. Subtract:

(@ HTO
267
-154

(¢ HTO
548

=314

b)3x6= ]

(b) TO
33
X3

(d HTO
OO
56
X 3

(b) HTO
523
301

(d HTO

0.0

8 88
-529



11.Word problems: (2x3=6)

(a) In a cricket match, Sunil scored 67 runs and Vikas scored 83 runs. What is the difference in the

runs scored by these two?

Sol. Total runs scored by Sunil=__

Total runs scored by Vikas=___

TO

Total Difference is =

(b) There are 7 balls in a bag. How many balls are there in 11 such bags?
Sol.  Number of bags =
Number of balls in each bag =

TO

Total number of balls in 11 bags =



